Упражнение на отработку HE HAS+HOW MANY/HOW MUCH
Exercise 26

1. У него две машины.
1.1. He’s (has) got two cars.
1.2. He hasn’t got two cars.
1.3. Has he got two cars?
1.4. Yes, he has.   No, he has not.
1.5. Has he got two or three cars (five…many…)?
1.6. How many cars has he got?

2. У него много времени.
2.1. He’s (has) got much time.
2.2. He hasn’t got much time.
2.3. Has he got much time?
2.4. Yes, he has.   No, he has not.
2.5. Has he got much or little time?
2.6. How much time has he got?

3. У него три яхты.
3.1. He’s (has) got three yachts.
3.2. He hasn’t got three yachts.
3.3. Has he got three yachts?
3.4. Yes, he has.   No, he has not.
3.5. Has he got three or two yachts (ten…many…)?
3.6. How many yachts has he got?

4. У него много рыбы.
4.1. He’s (has) got much fish.
4.2. He hasn’t got much fish.
4.3. Has he got much fish?
4.4. Yes, he has.   No, he has not.
4.5. Has he got much or little fish?
4.6. How much fish has he got?

